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T a?+B? isequal to: L 1 _%Alz a’+p?
a)a’—p’ b) o7 T 52 a)a’ - P’ b) o2t 2
) @+B)’-20p  da+p ) @+B)y-20  g)o+p

2 Cube roots of—lzare 2 j _ujgf:’l;jyi—l
a)—l,—(l),—(;) b1, , ® ) a)-1-0,-0" b-1,0,0"
-1~ , ® d-1,0 ,—® -1~ ,®" d-1,0,-0"

Ifa, areroots of equation pX +qx+r=0
the sum of 20 and 2B is

a)-q/r b)r/p
c)-2q/p d)—q/Zp
¢ i+i 1s equal to
= IB seq .
a) o b) (;_E
o—p o+p
c) o d) —ocB

5 If b-4ac>0 but not perfect square then roots

ofequation ax +bx+c=0 are:

2120 ?uy:;/bui px2+qx+r:0~:«lsl/ U,Bf'
e 7§ 2P

a)-q/r b)r/p
C)-Zq/p d)-q/2p
1 1
_‘L/_I,; T —
I 1 *
]l _—
a);; b)(x B
a—p o+
c) ob d) T H
ax2+bx+c=0oisb‘;ﬁ;@/;}‘(zalbz—4ac>0;l
:uf,'c'd“..)’c'giji

a)Not real b)Rational a)&?/:; b)&b?
¢)Irrational d)None C)Jb L/,:‘ d)uﬁﬂ;}(

® Product of cube roots of unity is: _I'a.«,./."d"lp LJU,@* LJM
a)0 b)1 a)0 b1
c)-1 d)3 c)-1 d)3

"1Ifq, B are roots of equation8x +5x-2=0 then 440+ B u‘j-b‘& X +5x-2=0z -, ij
a+ B: ..... -<
a)5/3 b)3/5 a)5/3 b)3/5
¢)-5/3 D-2/3 0)-5/3 d-2/3

° If(],B are roots of equation X —x-1=0 2120 ;uyc'gfﬁﬂi X —x-1=0 = bl C{,B /’7!
then product of 20 and 23 is _;:_H,/?’J‘QKZB
a-2 b)2 a-2 b)2
c)4 d)-4 c)4 d)-4
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